2020F9A2H AHE 8R 2HFRI 25K 1

SR_2 s hl 25 | 20(21 59'—1}3. I5E (__=) if%;ﬁgg 125§i 3'2‘545&47?355 9 454 8 ” }
=5, K = E 131, ISRBIRY - 1 1
Y5ILyFR 2% EE B4 L BF 1:30.8 L—2 5y FHEM : NSS 32 HMS 27 MSM 18 MMM 15 Grart ’
e | PEEY | EESEE 0 3% E A 14TE =R }Eﬁz BigE (E, . E) B HTE=L—R& L—T4v7 H75R TE=%IE BH-FEE- AT R
B F | MMM Eroi0K| B 7 1400n |[MIE=BAE - K BT TR 2. 3. AABBIEL STE=M-1—R - BSRKE S1L EAYSF
26 | B 2 |EnEs/FE|m  4suT | g F 0800m [617H =L —XR—RHI3F - RS - H3F (HEL, NF, S)EL‘) BT 3 Fiqh REMEE R9-b~4F - 3H~46 - I (6~1) LEY I FIRLL
WE | 2 f 8 | F140087 |5 B zumg }gggm L—RLYBFEAL - ENLYBFEAL DFERF HIB=1HBERF2KE (HZ) 1. 2, SHEEOMH
BAyX | BFMM | 8 10AMM | M BLFR| # % 1900n HiE AR E SFERT AFERT SERT
RS ETEFN ®Z |10 B :::: |FTZ1.013 [ FME000.2 [20.08.20 /] ¥ Z%ek|20.08.06  F Zumk|2.00.230 B ZnkE|2.00.098 & %Zuk|2.06.12] ¥ ZokE
= KB B 405-405 | 4 0.0.0.0 | \NE1.0.1.1 | EEBY (o 2% | 2R 2 2% |BLOXY 2% | 28 2% | R—\—% HE
= 54.0 .242| 7 52-52 A41.0.1.3 [ FX0000 |9 108 1% OA ®M |10 103 1% 6A |A [ 1 658 6% 1A 3 8% 3% 5A 8 9@ 3F 3A
1 AL H— B | o FB 1380@ | £40.0.0.0 | F/00.0.0.0 | 410 -6 #£3h 54 @DDD| 416 +11 # L3k 54 @QO | 405 0 =TFEHE 52 @ [405+7 EFH 52 @ 398 HTHE 52
(Alza o) B4 259 B 1380@ | T 1.0.1.1 | F20.0.0.0 | 1400m & B 1:38:0 45.0 | 1400m & B 1:40:4 44.9 | 800m & % 0:52:2 38.2 [ 800m & 7 0:51:8 37.8 | 800m & 7 0:53:7 39.0
REE [%]1] 1.01.3 | 20002 |241.01.3 | -©-@-®-3 WS 39.0-41.6 211 (9) [ MMM 40.0-40.0 111 (9) | SSS 38.2 514 (2) | SSM 37.2 513 (3) | SSH 36.0 511 (8)
ity 0.0.0.0 | 12500580 | £ 0.0.0.0 | 18 1002 | A Y§{(4.3) EZB | at-0.4) WIEE | A 15 (0.4) S8 | ¥4Y29%4-(0.9) FekE | 44wt -(B.9) LB
EVPIE Y #2113 c:occ: | FH10.0.T [F0.0.00 [20.07.23 8 B &&E[20.06.26 14 & &EE
SoZ kRSA BERE 5 305-395 | %4 0.0.0.0 | AE1.0.0.1 | 2 B4FRI2 % | 2EIE 5
< 2 55.0 .111| FF 55-55 | A4 1.0.0.1 | F5X0000 |7 788 6& 24 1 528 4% 2A
2 = B | MTE £40000 | /00000 | 394 -1 BER 55 @ |39%5 FRER 55 D
(FoFt¥) A . 256 FEX1.0.0.1 [ F520.0.0.0 | 800m & % 0:53:5 39.0| 800m 4 & 0:51:7 37.2
BT [%1 | 1.0.0.1 251001 [ - @- | 888 37.8 512 (1) | SSH 37.2 514 (1)
AL 1.0.0.1 | 15030580 | £ 0.0.0.0 [ 58 0000 | JEY-IN7(2. 1) Hk T8 4R (0.T) Sk
FA—TANA #2[13 A | 741000 |FPE0000 200821 15 ¥ K&HE|20.06.256 & 931 |20.05.20 0 F 4ml |20.05.05 12 & 4l
LFIw—T) #E3h B 494-494 | %4 0.0.0.0 | \E1.0.0.0 | 2 2% | 2R : 2% | JRAGEE 2% | JRASRTE B
54.0 .211| fr 54-54 BHH1003 | /0000 | T 6 1% IA &M |12 1281% TA K5t |9 108 6% TA 9 1088 6%F 4A
3| Al 7—zz=—T0 | BEA E40.0.0.0 | F/\0.0.0.0 | 494 -4 #E3h 54 (D | 498 +10 HIEE 54 (DO | 488 0 /NE#E 53 @@ | 488 /IR 53
(Fvg~qO-) 250 285 E40.0.0.1 | F50.0.0.0 | 800m # B 0:49:9 36.4|1200m # £ 1:24:8 48.6 | 1200m # £ 1:21:4 45.0 [ 1100m & F 1:10:2 40.0
" 0-Y-77-4 [%]] 1.00.3 [£1.000 |£41003 | -®------ SSH 36.4 514 (1) | MSS 36.2-41.5 511 (12) | SSM 36.3-39.2 511 (9) 3.1 431 (9)
HEEA 1.0.0.0 | 3150520580 | £ 0.0.0.0 [ 158 000 1 [ 143-MF 4(-1.9) %E A0 I | AT4-M) L-b(5.9) WK | 445 45 Up((3.0) kiB
PEEY] 2|14 B k. [FH0103 [FME0002 (2008209 ¥ #&ZmkE|20080610 ¥ &ukE|2000.23 11 8 Zak|20062612 &8 &ZakE
LY A B B 379-379 | %40.0.0.0 [ \NFO.1.0.1 | ZEY (oh 2% 2 iR 2 2% | BLOXY 2% 2BHE HE
54.0 .295| fT 54-54 A50.1.0.3 | 50000 |6 1088 5HI0A 4 103E10% 5A k#b| 2 63 4% 3A 5 53 2% 3N W
41 a2l LS4 Z | A@E FEB 1357®| £40.0.0.0 [ F/00.0.0.0 [ 375 0 HHE 54 GO®® | 375 -4 LEHHK 54 QRD | 379 +4 L FHHE 54 ® | 375 A 54 @
(FATASx—) B4 . 402| ¥R 1357® | A 0.1.0.1 | F40.0.0.0 | 1400m & B 1:35:7 42.8| 1400m & B 1:36:6 43.4 | 800m & % 0:52:6 38.1 | 800m & % 0:53:0 38.5
B E%5 [%]] 01.0.3 | 20002 |£401.03 | -©®-@-@--|MS 39.0-41.6 333 (6) [ MMM 40.0-40.0 421 (7) | SSS 38.2 514 (1) | SsM 36.6 512 (4
KEBFE 0.1.0.2 | 05120580 [ £33 0.0.0.0 | 18 0002 | A Y£§{(2.0) EZEE | y291-3.6) BEE | 0.4 b -] ARY-IN7(2.9) bk
IRART—LF— H2[9 s |[FHOTT3[FME0.0.02 (200820 6 F £wkE|20.08065 F £okE|2007.289 B #akE|2007.097 B &okE|20062609 & 2 AnE
IRAKF— KB B 444-444 | %5 0.0.00 | AFO.1.1.1 B (hh 28 2;‘.@#—*;5!] 2 28 zﬁ'&‘ﬁﬂu 2 2% | 2 2% | 2 5
NT 55.0 .261| 7 53-53 A40.1.1.3 | F/40.000 |10 1058 2% 8A W 1088 4% 4N 788 5% 6A 8 smEIB2A BM|3 SHIEIN W
5 Evy7F—o— B |#RE FEB 13799 | £40.0.0.0 | F/10.0.0.0 | 446 -5 KM% 55 @O 451 +1 K2%E 53 @O0 444 1 KZES @ |43+ KM S5 D | 442 KZESS [©)
(T4 ESya) B4 . 120] +B 13799 | EH0.1.1.1 | F20.0.0.0 | 1400m 4 B 1:38:0 45.4 | 1400m 4 B 1:37:9 43.6 | 800m & % 0:51:9 37.5| 800m & 7 0:54:2 39.0 | 800m # % 0:52:7 37.8
FRKH [%]1] 01.1.3 | 20002 |2401.1.3 | -®-@-@-®| WS 39.0-41.6 411 (10) [ MMM 40.0-40.0 311 (8) | SSS 37.8 514 (1) | SSM 37.2 512 (7) | SSH 37.2 513 (3)
AR 0.0.0.2 | #15£0%£0:80 [ £ 0.0.0.0 [ 1@ 0103 [ y44{(4.3) EZEB | V4291-(4.9) HE | A2-107(0.5) ik J4291-(3.3) SexE |V 4abb34(1.0) Kk
PREY] 2 [ 15 B A: . |FTHOITL0 | F/ME0.0.1.0 200820 11 ¥ &&E|20.07.24 13 F BEE
FyuTALE A R#HEH B 411-411 | %4 0.0.0.0 | \FH0.1.0.0 B (o 2 2B w5
J 54.0 .136| 7 54-54 AH0.1.1.0 | FX0.0.00 | 3 108810% 5, A4 | 2 988 4% 5A
6|o|mwrzany Z | MTX FB 13413 | £40.0.0.0 [ F/10.0.0.0 | 412 +1 fNF&ES 54 @M@ | 411 KFHM 54 ©)
(RFAT—=ILK) B4 . 170| FB 1341@) | A 0.0.0.0 | F50.0.0.0 | 1400m & B 1:34:1 40.6 | 800m 4 7 0:51:6 37.0
M5 [%]] 0.1.1.0 [£0.0.1.0 | £%01.1.0 | -®---@--[MIS 39.0-41.6 155 (1) | SSH 36.2 513 (2)
HAOIEF 0.1.0.0 | 30212080 [ £% 0.0.0.0 [ 18 0000 [ A y£4{(0.4) EEE [ -3y 7) SBE
NLT v HF—)L #2116 O: ::: [FF021.0 [FME0.0.1.0[20.0806 10 F £&HE[20.07.09 1T # &&GE[20.06.12 13 F %EE
R—R LT = —) | MER | E 468472 | %0000 | \F0.20.0 2 AR 2 % | 28 2 | RA—/\—#
- 55.0 .225| fT 55-55 A4021.0 [ 50000 | 3 1038 6% 3A 2 8EE 6F 1A 2 OFE 8% 2A 7:%
17| a|7r7s28—%> B | FOX FB 1357@ | £40.0.0.0 [ F/10.0.0.0 | 460 -8 MNFkES 55 @@ | 468 -4 3% 56 @ |[472 fngkER 55 @
(3 y—X~qa-) B4 .272| ¥R 1357@ | A 0.2.0.0 | F40.0.0.0 | 1400m & B 1:35:7 42.6| 800m & & 0:51:6 37.8 | 800m & & 0:51:6 37.8
AR [%]| 021.0 |2 0.0.1.0 | &4021.0 | ---®---@| MM 40.0-40.0 511 (4) | SSM 37.2 513 (3) | SSH 36.0 512 (3)
RBINE 0.1.1.0 9_25%0%0;50 £ 0.0.0.0 | 3@ 01 10| y4)aot-(2.7) HEE | ya94-0.7) FEE | 44wt -(1.8)  KEE
Y- AB—ES-RE— 2 [ 17 © : FH0.1.0.1 [FmEO0.1.0.1 [20.08.20 10 ¥ £HFE[20.07.10 15 & ZEE
—RI=RH— SHE 5 4387438 E40.0.0.0 | \NEF0.0.0.0 | ZE (hh 2 | R—\—H 5
=— 54.0 .309| fr 54-54 AX0.1.0.1 [ 450000 |4 ~ 1088 6% 2A 2 538 4% 2N
8|8|lo|Enry—n B | RO FFR 1343@ | £40.0.0.0 | F/\0.0.0.0 | 446 +8 S 54 @@ | 438 SHHK 54 Q@
(YRIx) 5 105| +7F 13430 | B 0.1.0.0 | FH0.000 |1400m & B 1:34:8 42.5 | 1400m & F 1:34:3 43,1
Erite] [%1] 0.1.0.1 | 20001 |2501.01 | @~ @| NS 39.0-41.6 443 (4) | HMS 38.2-42.4 533 (2)
BHEN 0.1.0.1 | 30510580 | £320.0.0.0 [ 1@ 0000 | A ybs{(1.1) EEE | ¥/ ur-(0.8) k%
BEE S — b 1400mFE4 B Rk (S£5TH#AR : 2018. 08. 31~2020. 08. 30) EBRTE HER 3BRE
5302 EHESR HERSK 1% 2% 3F &HH 3 ExE % (&) 4 5 6 7 8
1 PE=PES 295 54 45 31 165 0.183 0.336 3 (3%&M:E) 31 30 29 30 29 29 29 31
2 )|,—5—~>\y7“ 308 44 34 21 203 0.143 0.258 0 _____
3 FuiaH/FeF 31239 41 32 194 0.125 0.276 17 ®® FESV T/ B L BRI
4 AX—hkT77)LaY 232 39 21 29 137 0.168 0.284 fH Q@6®d WO 39.2M SEIFHEAT (534, 544) 6 sokkokik
5 o—FA+a7 15 37 2 16 19 0. 240 033 o T o 13.38 WFAIE L (434, 445) 2 #x
6 ITALUISvia 302 34 34 29 205 0.113 0.225 t o) % o 4028 EY - (255,365) 1 %
1 HYRG4TSR 248 33 21 2 166 0.133 0.242 M BA L1327 BUVAS (335,245) 1
8 NrLTFY 209 3 2 30 120 0.158 0282 o _____
9 T—L K7 Ya— 199 31 16 24 128 0.156 0.236 *
10 N—vsr54 249 30 32 40 147 0.120 0.249 %



